H & 0l & AHS B Ml A

SA A=
3 WHSHD &I E2 FHEE R4 (MI=X/F4)
el FHEE O (SH9 H2)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
A= 18,174,632 15,592,792 2,581,840
= 9,860,142 9,859,342 800
LS 3,133,230 821,930 2,311,300
Al 5,181,260 4,911,520 269,740
WS &I 22 FHEP ZE(MSA/FH) 17,844,132 15,532,332 2,311,800
= 9,860,142 9,859,342 800
< 3,133,230 821,930 2,311,300
Al 4,850,760 4,851,060 A300
FHE e 6,667,740 4,357,540 2,310,200
= 15,200 15,200 0
LS 2,315,060 4,560 2,310,500
Al 4,337,480 4,337,780 A300
9d U 451,600 544,600 93,000
402 QI2EXHE 01N 42,000 135,000 93,000
01 QIR AL 2 (KA &) 42,000 135,000 93,000
ORlE X At
38 42,000,0002 42,000 135,000 93,000
BIEEHIA (<HI) 135,000 0 135,000
= 40,500 0 40,500
Al 94,500 0 94,500
402 212HXH=01H 135,000 0 135,000
T 40,500 0 40,500
Al 94,500 0 94,500
02 QIZENHZ AL E (01X THEA) 135,000 0 135,000
ORIy EHXNE A 3,000,000 465 135,000 0 135,000
& 40,500 0 40,500
Al 94,500 0 94,500
SSFECX] HL AL 3,780,740 3,782,540 1,800
201 Ler2aY| 8,300 10,100 A1,800
01 At 2teltl 8,300 10,100 1,800
O=zg=¢ 8,300 10,100 1,800
cZ2IAARIEE 4o =
33 03 0 1,800 1,800
301 LetEd=z 12,840 12,840 0
01 AlRI2FH 263 (R U2 E) 0 12,840 A12,840
OgRU=E 2ot SSHIIZ X (8
a) (s3] 23 02 0 12,840 A12,840
03 ALl 2EH 63 (XL E) 12,840 0 12,840
OgRYU=E 2ot SSHIIE X2 (8
a) (=] 1,070,000 122 12,840 0 12,840
402 212HXH2 01 & 3,150,000 3,150,000 0
01 QIZENH2 AL 2 (RERITH ) 3,150,000 3,150,000 0
OERs SR B2 UF
33 o0& 0 30,000 30,000




SA A=
3 WHSHD &I E2 FHEE R4 (MI=X/F4)
el FHEE O (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
OEFs SRUE A =
30,000,000+ 14| 30,000 0 30,000
OZ2s I|ZR0HIE MU W SSAIE
% HasHE &1 33 0 0 29,000 A29,000
O2EsS QLEFHIXIOHE 0i2l0l =0IH
2+ 29,000,000+ 14| 29,000 0 29,000
SSFEEX] WA (EHI) 2,270,000 0 2,270,000
< 2,270,000 0 2,270,000
402 212HXH2 01 & 2,270,000 0 2,270,000
& 2,270,000 0 2,270,000
02 QIZHNHE AL E X (01X THE) 2,270,000 0 2,270,000
OS4E FSIXNOHHE “=AIE R[04
HdEd AZ] 40,000,000 * 14| 40,000 0 40,000
T 40,000 40,000
OS4E FE2X0HHE “=AIE JfA[0la
HEd AtE] 30,000,000 14} 30,000 30,000
T 30,000 30,000
OsZH SESLAUME AL HA[olaE
B AE] 30,000,000 %14 30,000 30,000
T 30,000 30,000
O1LAS AIZOHIE SEAIE W20l 4
HEd AtE] 30,000,000 14| 30,000 30,000
= 30,000 30,000
O1NAS BHIOHIE SEAIE 2014t
HEd AtE] 50,000,000 14| 50,000 50,000
< 50,000 50,000
OERE L23&FY A& HdlollaEd
& AtE] 30,000,000 * 14| 30,000 30,000
< 30,000 30,000
OHES IS4 Xt 2Z[ollasd
& AtE] 50,000,000+ 14| 50,000 50,000
< 50,000 50,000
OZ S FI3IUOHLE ==O0HHE AL IH
SAloMdEd AL 50,000,000+ 14| 50,000 50,000
& 50,000 50,000
OS3S HEHSUEH20HIHE SEAE K2
=[0MEEHE AL 50,000,000 * 14| 50,000 50,000
< 50,000 50,000
O=S UO0HHE ==AIE JHE[0AE ™
& AE] 20,000,000+ 14| 20,000 20,000
5 20,000 20,000
O=s SYOHHE SZ A E=x[0atdE
& AHZ] 40,000,000 %14 40,000 40,000
5 40,000 40,000
O=S AT AlE JHE[OIMEEE ALZ]
50,000,000 14} 50,000 50,000
LS 50,000 50,000




2N HASW
M. JEotD &) ES FHEE T (AMSIEX/FE)
&Rl FHEE oo (SH &)
SA - B - SA(SH) - MRA - BAS ol &t o H o HIDS2
O=s 2IoIOHIE =S A& WA [0t E
& AIE] 40,000,000 * 14| 40,000 40,000
& 40,000 40,000
O=s ZESFTZ22X0HIE =S Al&4 JHA [0
ASEE ALE] 40,000,000 * 14| 40,000 40,000
& 40,000 40,000
O=2S I=S0HIE SZMA[0AESE Al
=] 30,000,000 14! 30,000 30,000
= 30,000 30,000
O=5 JHOHIE A& HA[uldte e
& AE] 20,000,000 14! 20,000 20,000
= 20,000 20,000
O=25 HOIOHIE =S AE WA [udtSEE
& AIZ] 20,000,000 14! 20,000 20,000
= 20,000 20,000
OKlEE MEUNF=O0HIIE == A& W&ol
AN ALS 20,000,000& 14! 20,000 20,000
= 20,000 20,000
OgEss SHEHEIIYOHIE Al&E JHA|
OIS EIA AFE] 30,000,000 14! 30,000 30,000
= 30,000 30,000
O0As EEIX0HIE =S0HIIE A& I
SA[AMEEE ALS] 50,000,000& 14! 50,000 50,000
T 50,000 50,000
O0A s ZLY2X0HIIE =S0HIIE Al& N
SA[0AMEEE ALE] 50,000,000 14! 50,000 50,000
& 50,000 50,000
OOU\‘lg i HIIE SSO0HIFE AlE JHA|
OlASEEE ALE] 50,000,000 *14! 50,000 50,000
T 50,000 50,000
O0AMS =Z20HIE =S0HIE A& A
OlAFSEE ALZ] 50,000,000 *14! 50,000 50,000
T 50,000 50,000
OWAES SHUAISOHIIE == 0HIIE Ald
NE[CASEEE ALE]
35,000,000 14! 35,000 35,000
T 35,000 35,000
OUA S SEHUHALEOHIE =F0HIE Al&
N[ ASEEX ALE]
50,000,000 * 14! 50,000 50,000
= 50,000 50,000
O2xs JYMA “S0HIE AlE WA [0l
ASEE AIE] 30,000,000 14! 30,000 30,000
= 30,000 30,000
O2xs stiulel SS0HIE AIZ WA (ol
MERE ALE] 50,000,000 14! 50,000 50,000
= 50,000 50,000




SA: A=
A ARG )| E2 FAHEZ ZLE(ARISX/FE)
el FHEE e (St &)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
O==5 FYUIUE =20HIHE A& i
[0S ALE] 50,000,000 *14] 50,000 0 50,000
& 50,000 0 50,000
O2+S FE10XI0HLE ==0HHE A& |
dA[0AEEE ALE] 20,000,000 * 14! 20,000 0 20,000
< 20,000 0 20,000
OR+3= ESI0HIIE =F0HIE A& HA[
GlatE B E ALE] 50,000,000 *14] 50,000 0 50,000
< 50,000 0 50,000
O2+8 H&std MsAE ZX0laEd
o ALZ] 20,000,000 * 14! 20,000 0 20,000
< 20,000 0 20,000
Ollgs =235 A& Hd[oaEd
& AE] 10,000,000 %14 10,000 0 10,000
< 10,000 0 10,000
O0l83s HSS1XO0IHE OtAZ2 ZE([0aHS
g AE] 50,000,000 *14] 50,000 0 50,000
< 50,000 0 50,000
O0lEs SH3XO0HHE SSAIE HE==[0]
AHEEE A 45,000,000 %14 45,000 0 45,000
< 45,000 0 45,000
O=4YS 0IZ0HIE A8 E2[0IAESH
AHE] 30,000,000 *14] 30,000 0 30,000
=S 30,000 0 30,000
OTHS cI2ROHIE Alg 2=[0ddE
& AFZ] 70,000,000 %14 70,000 0 70,000
= 70,000 0 70,000
O=4s AEZAAOHIE SERE AL
HE[OlAHE-A AL
50,000,000+ 14| 50,000 0 50,000
= 50,000 0 50,000
THS SIHOMIIE XIGHFIHE SE2E
AE JHE OB A AZ]
50,000,000 *14] 50,000 0 50,000
< 50,000 0 50,000
OEEs g8id FHE AL He[olatd
g AE] 70,000,000 14 70,000 0 70,000
& 70,000 0 70,000
Ogss AU IIA0HIE Ald JHE [0
MEEHE ARE] 50,000,000 *14] 50,000 0 50,000
< 50,000 0 50,000
Osts dSotme|ol OtIE Al& JH (ol
MEEHE AR 100,000,000 14| 100,000 0 100,000
< 100,000 0 100,000
O&tE 2LIXOHIE =0I6 HEs[0lats
g AZ] 40,000,000 %14 40,000 0 40,000
< 40,000 0 40,000




2 A=
M YHGID A E2 FHEE ZL(AMBIEX/FH)
SR FHEE HA (Cte &)
M- - SA(3) - MRAY - BES (1;| Palgely | & A Hlns
OPHME A 0(RIOHIE AlA WA [0l A
SHEYA AIZ] 50,000,000 14! 50,000 0 50,000
[ 50,000 0 50,000
OASSOHIE == CTV Al WHI[0lAtLE
A AR] 20,000,000+ 14! 20,000 0 20,000
[ 20,000 0 20,000
OASE SHOHIE Al WS [0lAERIA
=3 50,000,000 x 14! 50,000 0 50,000
[ 50,000 0 50,000
OASE Y XHEOHIE &E HE2=[0]
ARSBRIE AL 50,000,0002x 14! 50,000 0 50,000
(= 50,000 0 50,000
OIDIE ABIOHIIE =S AIE HE[0A
SFSIUNE=] 40,000,000 % 14! 40,000 0 40,000
(= 40,000 0 40,000
OAMHNE S0IEHSO0HIIE AlE HE[0A
SFSIUNE=] 50,000,0002 x 14! 50,000 0 50,000
(= 50,000 0 50,000
O2A s ASOI0HIE S AIE [0l &
SEA AR] 100,000,000 14! 100,000 0 100,000
(= 100,000 0 100,000
OF4atE 22BCY Al WA [HAEZA
AtE] 30,000,000 x 14! 30,000 0 30,000
(= 30,000 0 30,000
O=Ns 2L2CY LSAM H[0AA
ERSINE=] 70,000,000 % 14! 70,000 0 70,000
(= 70,000 0 70,000
OZ2HS OHIIE == CTV Al& WHI[0l At
2 AL=2] 70,000,000 %14 70,000 0 70,000
(= 70,000 0 70,000
HNASE F=HHY X 11,176,392 11,174,792 1,600
= 9,844,942 9,844,142 800
(= 818,170 817,370 800
Al 513,280 513,280 0
OlAMH| X AF 1,600 0 1,600
=2 800 0 800
[ 800 0 800
301 LEtEAZ 1,600 0 1,600
= 800 0 800
(= 800 0 800
01 AR B XG2S (BREXTS) 1,600 0 1,600
OO0IAHHI XIZ(HIBAHK HFEX)
400,000 %40+ 1,600 0 1,600
= 800 0 800
[ 800 0 800
ARIOHE AZN JH(DELXSNL/TSLTAI) 272,900 6,240 266,660
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